[N of associated tracks (simToReco) vs hit ]

N of simulated tracks vs hit

40

TP hits

25

+

20

JISEEERE = 5 =

15

0.9F ---- 4

O.io

sa|oedBbupoelL

80

60 70

10 20 30 40 50

TP hits

7
S
i
3
3
15
£
2
S
=
5
]
<
3
£
]
=
o
3
2
[
i
o
T_
=
o
[a]
S
0
2
g
=
<
3
<
2
?
3
2
8
2_
x
|
.
|
o
1_
Z
35
= o
g3
S S E
T 7 O
E=®
53 %
< ¢ 3
353
[oga=MNed
250
= 5 o=
o
-
m_mm_
-8 F
=
'S 5
253
o o
£
5
5
z

22 24
TP layers

20

18

16

14

12

10

0.

25

20
TP layers

15

10

< )
o o
— —

sa|onedBupORIL

[N of associated tracks (simToReco) vs pixel layer ]

[N of simulated tracks vs pixel layer ]

6

5

4

sapnsedBupoel L

TP pixel layers

TP pixel layers

[N of associated tracks (simToReco) vs 3D layer |

[[N of simulated tracks vs 3D layer ]

18 20

16

14

6 8 10 12

4

2

o
—

Sd1 palonisu0day

20

<
o
-

sajonredbupioel L

~
o
—

0 2 4 6 8 10 12 14 16 18

TP 3D layers

TP 3D layers



	Contents
	Page 1


